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Relacdo do aco

ESC 1:50 ) ESC 1:50 5 ESC 1:50 ) ESC 1:50 ) ESC 1:50 )
SECAO A-A SECAO A-A SECAO A-A SECAO A-A SECAO A-A V200 V201 V202
2N11 8.0 C=345 (ic) ESC 1:25 2N11 8.0 C=345 (ic) ESC 1:25 2N13 8.0 C=506 (lc) ESC 1:25 2N14 8.0 C=439 (1c) ESC 1:25 2N16 8.0 C=432 (1c) ESC 1:25 V203 V204 V205
20| 309 20 20| 309 [20 20| 462 | 28 23 399 |21 24 | 392 20 V206 V207 V208
V209 V210 V211
V212 V213 V214
A 275 A 275 275 A rA 275 rA 275
2 o L - L o 2 o SR o V215 V216 V217
| | ™ | | @ | | ™ | | @ | | ™ V218 V219 V220
ﬂ - - - . - - V221 V222 V223
1l Pa A | P5 15 jﬁi P7 A J\ﬁ P8 15 v& P11 A | P12 15 j/d P12 A | P13 15 1 plpP13 A | P14 15
ACO N  DIAM Q UNIT  C.TOTAL
14 271 130 30| 271 14 15 4225 130 30| 345 130 30 | 3375 L (cm) (cm)
’ 15 x 30 ’ ’ 15 x 30 ’ ’ 15 x 30 ’ ’ 15 x 30 ’ ’ 15 x 30 ’ CA60 1 5.0 582 78 45396
L 301 301 L L 452.5 375 L L 367.5 2 5.0 2 243 486
’ 21 N1c/15 24 21 N1c/15 ’ 24 ’ 31 N1c/15 24 25 N1 c/15 ’ 24 ’ 25N1c/15 24 CA50 3 6.3 2 74 148
9 1N3 26.3 G=74 9 9 9 9 4 8.0 4 462 1848
= 8 = = = = 5 8.0 2 505 1010
2N1098.0 C=309 (ic) 21N105.0 C=78 = 21N125.0 C=8 2N4 08.0 C=462 (ic) 31N105.0 C=78 2N6 8.0 C=399 (ic) 25N105.0 C=78 2N1508.0 C=392 (1c) 25N105.0 C=78 5 80 4l 399 1596
309 10 7 8.0 2 435 870
2N12 8.0 C=317 (1c) 8 8.0 2 391 782
9 8.0 2 427 854
10 8.0 2 309 618
11 8.0 4 345 1380
12 8.0 2 317 634
13 8.0 2 506 1012
14 8.0 2 439 878
15 8.0 2 392 784
V211 V212 V213 V214 V215 16 80 2 4% 864
3 ESC 1:50 5 ESC 1:50 ) ESC 1:50 5 ESC 1:50 ) ESC 1:50 ) 17 8.0 4 453 1812
SECAO A-A SECAO A-A SECAO A-A SECAO A-A SECAO A-A SECAO A-A 18 8.0 4 489 1956
ESC 1:25 2N22 8.0 C=502 (1c) ESC 1:25 2N24 8.0 C=317 (1c) ESC 1:25 2 N26 8.0 C=287 (1c) ESC 1:25 | 2 N28 8.0 C=355 (1c) ESC 1:25 | 2N28 8.0 C=355 (1c) ESC 1:25 19 8.0 2 454 908
20| 466 |20 20| 281 [20 20| 251 |20 20| 319 |20 20| 319 |20 20 8.0 2 49 980
21 8.0 2 466 932
275 -A FA e 275 -A 275 - A 275 - A 22 8.0 2 502 1004
o ~ o ~ o ~ o ~ o ~ o 23 8.0 2 281 562
“ | | “ | | @ | | “ | | @ | | @ 24 8.0 2 317 634
25 8.0 2 251 502
15 v& P19 LA P17 15 P17 LA J\ﬁ P15 15 v& P15 LA P11 15 1 lpia LA | P9 15 1 lpg LA  P6 15 26 8.0 4 287 1148
14 4275 |30 30| 243 14 14 213 130 30 | 255 | 40 40 | 255 130 27 8.0 4 319 1276
] | J | 1 i | | | | 28 8.0 4 355 1420
15x 30 15x 30 15x 30 15x 30 15x 30 29 8.0 6 474 2844
I 457.5 273 I I 213 I I 255 I I 255 I 20 8.0 ) £13 1026
D24 ’ 31 N1c/15 24 19 N1 c/15 ’ 24 ’ 15 N1 c/15 ’ 24 ’ 17 N1 c/15 ’ 24 ’ 17 N1 c/15 ’ 24 31 8.0 2 457 914
9 9 9 9 9 9 32 8.0 2 493 986
30N1250 C=78 2N2108.0 C=466 (1c) 31N105.0 C=78 2N23 08.0 C=281 (ic) 19N105.0 C=78 2N25 08.0 C=251 (i) 15N105.0 C=78 2N27 98.0 C=319 (1c) 17N105.0 C=78 2N27 28.0 C=319 (1c) 17N105.0 C=78 22 2'8 ; gf; Zgg
35 8.0 2 259 518
36 8.0 2 315 630
37 8.0 2 343 686
38 8.0 2 298 596
39 8.0 2 334 668
40 8.0 2 510 1020
41 8.0 2 162 324
42 8.0 2 127 254
V219 V220 V221 V222 V223 Resumo do ago
ESC 1:50 3 ESC 1:50 B ESC 1:50 3 ESC 1:50 B ESC 1:50 AGO  DIAM  C.TOTAL  PESO+10%
SECAO A-A SECAO A-A SECAO A-A SECAO A-A (m) (kg)
2N26 08.0 C=287 (ic) T Esc 125 | 2N37 28.0 C=343 (ic) ESC 1:25 2N39 8.0 C=334 (1c) ESC 1:25 | 2N40 8.0 C=510 (1c) ESC 1:25 2N41 8.0 C=162 (1c) (1c) 2N42@8.0 C=127 CA50 6.3 1.5 0.4
20| 251 120 20| 307 20 20| 298 20 20| 474 120 22| 142 109 20 8.0 379.3 164.6
SEGAO A-A CA60 5.0 458.9 77.8
275 rA 275 rA A 275 275 rA : ESC 1:25 PESO TOTAL
. o S o S o S o 2N2 5.0 C=243
| | — | | |7 | [ creo 188
- - : - - A CA60 77.8
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1\ A J\ﬁ P12 5 v& P14 A .l 5 L\ A J\ﬁ P7 5 v& P7 A P4 5 -
1<5) Vol. de concreto total (C-25) = 4.17 m*
30| 2125 14 14 268.5 | 30 30] 260 14 14 436 | 30 | | Area de forma total = 69.57 m?
15x 30 15x 30 15x 30 15x 30 P8 LA J\/\ P5 15
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251 o 1N306.3 C=74 9 9 9 “ 15x 30 '
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3N3508.0 =259 (10 17 N1 85.0 C=78 % 18 N1 5.0 C=78 2 N38 08.0 C-298 (10 18 N1 5.0 C=78 N9 08.0 C=474 (10 32N1¢5.0 C=78 s | ”
10]L 307
1 2N36 98.0 C=315 (1c) o
2N29 8.0 C=474 (ic) 32N1050 C=78
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V103 V104 V105 V106 V107 V100 vioL vi02
ESC 1:50 ) ESC 1:50 ) ESC 1:50 ESC 1:50 ) ESC 1:50 ) V103 V104 V105
SECAO A-A SECAO A-A SECAO A-A SECAO A-A V106 v107 v108
2N9 8.0 C=334 (ic) ESC 1:25 (1) 2N118.0 C=327 ESC 1:25 3N1408.0 C=484 (ic) 2N428.0 C=399 (ic) ESC 1:25 2N1508.0 C=392 (ic) ESC 1:25 ﬁgg xﬁg xﬂi
27 | 309 309 20 25 | 461 SECAO A-A V115 V116 V117
I ea . i | A i 1N1328.0 C=117 () ESC 1:25 | A ; I | A . I V118 V119 V120
VT v o \ TA o v v o V \ 5 vi21 V122 V123
| ” | @ A = 3 S a— 3
, JT 0 r TJL ACO N DIAM Q  UNIT C.TOTAL
v& P4 LA _P5 15 1 lp7 LA J\ﬁ P8 15 ® 1 lp12 LA P13 15 1l P13 LA P14 15 (cm) (cm)
I CA60 1 50 586 78 45708
14 271 |30 30| 271 14 \/\L L 30 | 345 |30 30| 337.5 |30 CA50 2 6.3 3 74 222
\ 15 :
’ 15x 30 ’ ’ 15x 30 ’ nt Pt A - P12 J15 ’ 15 x 30 ’ ’ 15 x 30 ’ 3 8.0 2 462 924
| 301 24 301 | 24 14 4225 | 30 375 | 24 | 367.5 24 4 8.0 9 399 3501
‘ 21 N1 c/15 21 N1 c/15 ‘ ’ 15 x 30 ! 25 N1 c/15 ‘ ‘ 25 N1 ¢/15 5 8.0 2 301 782
9 1N206.3 G=74 9 | 452.5 4 9 9 6 8.0 1 107 107
21 N1 5.0 C=78 —\8 21N1 5.0 C=78 ‘ 31N1c/15 25N125.0 C=78 25N1¢5.0 C=78 7 8.0 2 419 838
2N8 8.0 C=309 (1c) ' 35 ' 5 2N4 8.0 C=399 (lc) ' 2N15 8.0 C=392 (ic) ' 8 8.0 2 309 618
309 o 9 8.0 2 334 668
2N10 8.0 C=317 (lc) 2N1208.0 C=461 (10) 31N15.0 C=78 10 8.0 2 317 634
11 8.0 2 327 654
12 8.0 2 461 922
13 8.0 2 117 234
14 8.0 3 484 1452
15 8.0 4 392 1568
V111 V112 V113 V114 V115 16 80 4 453 1812
) ESC 1:50 ESC 1:50 ) ESC 1:50 5 ESC 1:50 ; ESC 1:50 ) 17 8.0 3 474 1422
SECAO A-A SECAO A-A SECAO A-A SECAO A-A SECAO A-A 18 8.0 1 125 125
ESC 1:25 2N24 8.0 C=494 (1c) (1c) 2 N2628.0 C=299 ESC 1:25 2N28 8.0 C=269 (1c) ESC 1:25 2N29 8.0 C=319 (1c) ESC 1:25 2N29 8.0 C=319 (1c) ESC 1:25 19 8.0 3 483 1449
30 ‘ 466 281 20 20| 251 20 8.0 2 454 908
1N23 28.0 C=167 (1c) 21 8.0 2 466 932
SECAO A-A ﬁ rA Tﬁ ﬁ 0 r AT\/L, ﬁ 0 r AT\/L, 1o 0 AL 22 8.0 1 112 112
= 1N22¢8.0 C=112 (2¢)  ESC1:25 ~~— 3 ~~— ? == 3 S 2 23 8.0 1 187 167
—_— ' | | ‘ @ 24 8.0 2 494 988
] ] ] - 25 8.0 2 281 562
15 jﬁl P17 A J\ﬁ P15 15 v& P15 A L\/L P11 15 j/d P11 A J_\/L P9 15 j/Q P9 A L\/L P6 15 26 8.0 2 299 508
JT — - I 30 243 4 il 213 30 30 255 40 40 255 30 27 8.0 4 251 1004
8 l P 4{ i i i i l 28 8.0 4 269 1076
| 15x 30 15 x 30 15 x 30 15x 30 29 8.0 8 319 2552
' 273 | I 243 285 I I 255 | '
L 30 8.0 6 474 2844
D24 P19 A LJL P17 115 19 N1 c/15 ’ D24 ! 17 N1c/15 DM 19 N1 c/15 ’ 24 ! 17 N1 c/15 ! 24 31l 80 o 457 914
9 14 4275 |30 9 9 9 9 32 8.0 3 482 1446
7 7
30 N1 5.0 C=78 15x 30 2N25 080 C=281 (10) 19 N1 85.0 C=78 2N27 080 C=251 (19) 17 N1 85.0 C=78 2N2908.0 C=319 (10 19 N1 85.0 C=78 2N29 08,0 C=319 (10 17 N1 85.0 C=78 33 8.0 2 282 564
I 4575 04 34 8.0 2 306 612
’ 31 N1c/15 35 8.0 2 315 630
5 36 8.0 2 333 666
_ 37 8.0 2 306 612
2N21 8.0 C=466 (1c) 31N105.0 C=78 38 8.0 2 316 632
39 8.0 4 492 1968
40 100 2 481 962
V119 V120 V121 V122 V123 2| 00| 2| 51 o
42 100 2 516 1032
ESC 1:50 ) ESC 1:50 3 ESC 1:50 3 ESC 1:50 ) ESC 1:50 )
SECAO A-A SECAO A-A SECAO A-A SECAO A-A SECAO A-A Resumo do aco
(1c) 2N28 8.0 C=269 ESC 1:25 2N36 8.0 C=333 (1c) ESC 1:25 (1c) 2N3828.0 C=316 ESC 1:25 2N39 28.0 C=492 (1c) ESC 1:25 (1c) 2N398.0 C=492 ESC 1:25 ¢
251 [l20 20| 307 110 298 |20 20| 474 474 |20 AGO DIAM CTOTAL  PESO+10%
(m) (kg)
A Tp VT 0 r ATF ﬁ A g Tp VT 0 r ATF ﬁ A 0 Tﬁ CAS50 6.3 2.3 0.6
Ao — ~ =) A — ~ AV — =) 8.0 375.9 163.1
| ' | | 10.0 29.9 202
i i i i i CA60 5.0 457.1 775
j/Q P16 A Lﬁ P12 v& P14 A | P10 115 ] j/d P10 A J\ﬁ P7 v& P7 A L\/L P4 j/Q P8 A J\ﬁ P5 115 PESO TOTAL
30| 2125 14 14 268.5 130 30| 260 14 14 436 130 30 | 436 14 CASO ™
’ 15 x 30 ’ ’ 15 x 30 ’ ’ 15 x 30 ’ ’ 15 x 30 ’ ’ 15 x 30 ’ s s
2425 L L 268.5 L D ” L 260 L L 466 466 L D ” :
7 7 7 7 7 7 7
17 N1 c/15 18 N1 ¢/15 18 N1 ¢c/15 32 N1c/15 32 N1c/15 Vol. de concreto total (C-25) = 4.17 m?
9 1 Ng 26.3 C=74 9 1N2 26.3 c§74 9 9 9 Area de forma total = 69.56 m?
2N27 08.0 C=251 (10) 17 N1 85.0 C=78 % 18 N1 85.0 C=78 ? 18 N1 85.0 C=78 N30 08.0 C=474 (10 32 N1 5.0 C=78 N30 08.0 C=474 (10 32 N1 5.0 C=78
10l 307 298 10
2N3528.0 C=315 (1c) 2N37 28.0 C=306 (1c)
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